Y5 - Autumn - Block 1 - Step 4 - Number to 100,000 Answers

Question Answer

a) 61342, sixty-one thousand, three hundred and forty-two
61,362
18,591, eighteen thousand, five hundred and ninety-one
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a) 67,611 c) 78,319
67,000 611 8,000 70,319
4
b) 50470 d) 93,406
50,000 470 93,006 400
a) 40000
b) 7000 + 200
: ) 20,000 + 400 + 50 + 5
d) 60000 + 90
e) 10000 + 300




Y5 - Autumn - Block 1 - Step 4 - Number to 100,000 Answers

Question Answer

a) Any two 5-digit numbers with a 6 in the thousands place
6 ’
b) Any two 4-digit numbers with a 6 in the thousands place
’
a)
33,000 36,000
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30,000 35,000 40,000
32,500 37500
7
b)
52,000
41500 1 59500
40,000 T 60,000
58,000
c) Arrow drawn in appropriate position.




